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CBA Practice paper model answers 

Personal Tax (PTX) 

Task 1.1
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Task 1.2

[image: image3.png](a) Which of the following statements is not correct?

Accountants need to follow the rules of confidentiaity even in a social environment,

Accountants are allowed to break the rules of confidentiality when money laundeting is suspected.

The rules of confidentiality need to be followed after the relationship in question has ended

Accountants must follow the rules of confidentiallty, inespective of the situation

(b) When an accountant is advising a client, to whom does he owe the greatest duty of care?

HIRC

‘The professional body to which the accountant belongs

The client

The public





Task 1.3

[image: image4.png]For each of the following, tick either employment or self-employment:

Contract of senvice is for

Employment

Selfemployment

Contract for senvice is for

Ahigh level of control by an employer over the work performed would
ingicate what type of relationship?





Task 1.4

[image: image5.png]Whatis the salary taxable for 2009107 [£16,830 v
Whatis the bonus taxable for 2009/107  [£876 v
Whatis the commission for 2009107 [E846.50 v





Task 1.5
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Candidate No: 1234656

© Ques
Section 1. Tasks and Questions.

(@) Select your answers from the dropdown menus below.
Which scale charge would be applied for petrol cars with the following CO2 emissions?

112gkm

d

130gkm [15%

150gkm [1a%

245gkm

@

‘Simon was provided with a second hand car in October 2007. I cost the company £14,000, butthe list
Pprice of this car when bought new was £21,000. The car has a CO2 emission of 185g/km, and has a
diesel engine. The company pays for all running costs, including the fuel.

(b) Using this information, complete the following sentences.

The cost of the car usedin the benefitin-kind computation s £ [27000
The CO2 emission used in the beneftin kind computationis [25 ] %
The fusl charge used inthe beneftin kind computations £ [4732
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Task 1.6

[image: image7.png](a) Select the appropriate option from the choices below.

2800

28850

21,250

21,850

When accommodation is purchased by an employer, whatis the value ofthe property ahove which an
additional benefitis applied?

(b) Select the appropriate option from the choices below.

250,000

270,000

275,000

2100000





Task 1.6 (continued)

[image: image8.png](c) Select the appropriate option from the choices below.

Yes  No

Accommodation provided for al dirsctors

Ethel was providsd with accommodation (which is not ob related) by her employer. The flat has an annual
value of £4,200 and the employer pays a rent o7 £300 per month. She pays £100 per month towards the
private use of he flat.

(@) Whatis her taxable benefitfor 2009/102 Select the appropriate option from the choices below.

22,400

23,000

23,600

24,200

26,600





Task 1.6 (continued)

[image: image9.png](2) Which two of the following statements are correct? Select the appropriate option from the choices
below.

Fumiture provided by an employer is taxed at 20% per annum ofthe market value.

Furniture provided by an employer is taxed on the costta the employer inthe year of purchase.

Expenses paid for by the employer are taxed at 20% per annum of the cost.

Expenses paid for by the employer are taxed onthe costto the emplayer.





Task 1.7

[image: image10.png]Complete the following senitences so that the benefit is exempt from tax.

1) Childcare paid for by employers is sxermptup o the frst e veek

2) Provision of mobile telephones is restricted to

£ ver employee.

9 Lang senvce awards are resrtedta 2l vervearorsenice
4) Relocation expenses up to [£8,000 B2 are allowed.





Task 1.8 

[image: image11.png]Bartie uses his own car for business travelling. During 2008/10, he travelled 16,000 business miles for
which he was paid 35p per mile by his employer. The impact of this is:

He will have ataxable amount o7 £800.

He will have ataxable amount of£100.

He will claim an allowable expense of £800.

He will claim an allowable expense of£100.

Edward has an ccupational pension scheme to which he contributes 4% of his salary. His emplayer
also contributes 6% of his salary. For 2009110, his salary was £22,400. The impact of this is

His salary will be deducted by £896

His salary will be deducted by £2,240.

His basic rate will be extended by 2896,

His basic rate will be exended by £2,240,





Task 1.8 (continued)

[image: image12.png]Simon pays £300 peryear in subscriptions. £180 is paid to a professional body that he belongs to and
the other £120 is paid to a social club where he regulatly entertains clients. The impact of this is

Neither is allowable as 3 tax deduction,

Both are allowable as a tax deduction

Onlythe professional fees are allowable

Onlythe social club fees are allowable.

Georgs has a non-coniributory occupational pension scheme. This means:

Georgs pays  percentage of his salary into the scherne, butthe employer does not

Only the Government pays a percentage of his salary into the scheme.

The employer and the Govemment pay a percentage of his salary into the scheme.

Georgs and the Govemment pay a percentage of his salary nto the scheme.





Task 1.9

[image: image13.png]Received net

NS&I fied rate savings honds

Received gross

Gilts

Interestirom building society
accounts

Interest rom NS &l nvestment
accounts

Interestirom bank accounts

Loan stock from unguated
companies





Task 1.9 (continued)

[image: image14.png]iate box.

(b) Select the correct answer to the following by ticking the approp

During 2009/10, Harrietrecefved interest of £320 from her building society account and £480 from her
NS&l investment account, The tax attached 1o this interesttotals:

2180

2200

2178

184





Task 1.10

[image: image15.png]Complete the sentences below by dragging the correct figu

Victoria received dividends of 218 in October 2008

The taxon these dividends is: [£24

r2160 [Razz0

rsa

The gross amount of the dividend is: [£240

z162 r1e2 [R237.60

z270 [r2s0.20





Task 1.11

[image: image16.png](@) Complete the following sentence.

o be exempt, the maimum thatcan be invested inan 184 account for 200910 s £ [7200]

(b) Indicate whether the folloy

g statement is true of false by putting a tick in the appropriate box.

Irespective ofthe amount of money invalved, lotery winnings are exempt from tax.

True

False





Task 1.12

[image: image17.png]During 2009/10 Roger, who is 67 years olg, had income of £25,000 and received dividends o £936.

Calculate his total income tax lability for 200010,

athe table given below.

B
incorne 2500
(Gross dwidents - 2936 x 100130 7040

26,000
[Personal alowance 7970
[Taxabie mcome 6120
(@500 -7 920)x 20% 3416
T 0% o

3520





Task 1.13

[image: image18.png]Replyto Shania's query.
Half of the tax liability for anyyear is paid by 31 January in thattaxysar, and the other halfis paid by 31 July
following the tax year. This is based on an estimate, using the preceding taxysars' liabiliy. Therefore, when

[your father paid his tax iabiliy on 31 January 2009 and 31 July 2008 for 2008109, this was based on his
liabilty for 2007108,

when the final igures were sentto HMRC, they worked aut that these twa instalments are not enough to
coverthe fulliabiliy, hence the £1,400 is the balance of tax due.

4 explained, the installment on 31 January 2010 for this current taxyear is based on the accurate liabiliy for
2008109. 11 he overpays for 2009/10, he willreceive a refund from HHMRC.

However, he can claim to reduce these installments if he knows that his income will not be as high as twas
last year Whilst this is fine, your father needs to be careful. Ifhe makes an incorret claim to reducs these
installments, then HMRC will charge hir interest on the difisrence between what should have been paid and
[hatwas actually paid.





Task 1.14

[image: image19.png]Sum

Your name

2 Your unique taxpayer reference (UTR)

mary of your enclosed computations

You must enclose your computations. as well as filling in the boxes - read pages CGN & and (GN 9 of the notes.

3

Total gains in the year, before losses

7 [re00e

0" if there are none

10 Losses available to be carried forward to later years

£

11 Losses used against an earlier year's gain special
circumstances apply - read the notes on page CGN 12)

£





Task 1.14 (continued)

[image: image20.png]Losses hrought forward and use

in the year

, after losses but before the annual exempt

Annual exempt amount
:IL 10,100

Net charqeable qains (box & minus box 7) - but if bax 7 is
more than box 6, leave blank

7 [2e00

Additional liabil
resident trusts

i

vespect of norresident or dual

[12] Losses used against income - amount dlaimed
against 2008-10income

3

13 Losses used against income - amount claimed
Against 2008-09 income

T

Income losses of 2009-10 set against gains

[ 15| Entrepreneurs relief - read the notes on pages CGN 7
and N &





Task 1.14 (continued)

[image: image21.png]Listed shares and securities

16 Number of disposals [ 78] Gains in the year, before losses

3 13,000

17 Disposal proceeds. I you are making any n, put X' in the hox

7[00

If your computations indude any estimates or valuations,
put X' in the box

18 Allowable costs (including purchase price)

1 [33000





Task 2.1

[image: image22.png]Indicate whether the following statement is true or false by putting a tick

the appropriate box.

Incorne from property s taxed on a receipts basis.

True

False





Task 2.2

[image: image23.png]Calculate the profit or loss made on each property.

Three bedroom T bedroom
house £ Tt £

income 5600 4000
Expenses

(commission 3%

(Council tax and water rates 1400)
Insurance 279
[Wear and tear allowance 280
Profitass 5260 270





Task 2.3

[image: image24.png](@) Complete the following statement with an answer from the dfopdown menu below.

‘The amount of rentyou can recsive which s tax res under the rent-a-room scheme s [£4,250

(b) Which of the following statements is true?

You cannot use the rent-a-room scheme ifyou yourssflive in rented accommodation

Alodger can occupy an eniire floor and the rent-;

room scheme stil applies.

The scheme applies to both fumished and unfurnished accommadation

Charges far additional services, such as laundy, do not count in the annual exempt imit,

(©) Indicate whether the following statement is true or false by putting a tick i the appropriate box.

Rent-a-room scheme cannot be claimed ifthe actommodation is also un as a guest house,

True

False





Task 2.3 (continued)

[image: image25.png]() Indicate whether the following statement is true or false by putting a tick in the appropriate box.

When working autthe profit made fram renting out a room, capital costs such as furmiture cannot be taken
into account.

True

False





Task 2.4

[image: image26.png]For each statement, tick the appropriate box.

Grandtather gives an assetto his granddaughter.

Actual
procesds
used

Deermed
proceeds
used

No gain
orloss.
basis

Wife gives an assetto her husband

Sarah sells an assetto her friend for £13,000 when
the market value is £16,000.





Task 2.5

[image: image27.png](a) Using this information, select the correct answer to the following statement by ticking the appropriate box.

The gain on this assst s

£250,000

270,000

2120000




[image: image28.png]Andrea bought an asset in January 2000 for £26,000, selling itin Decernber 2008 for £45,000. She paid
auctioneer's commission of 3% when she bought the asset and 5% when she sold the asset

(b) Using this

nation, select the correct answer to the following statement by tick

g the appropriate box.

The gain on this assst s

220470

215970

217,530

210,000





Task 2.5 (continued)

[image: image29.png](¢) Indicate whether the following statement s true or false by ticking the appropriate box.

Adverlising costs are not an allowable deduction as they are revenue expenses.

True

False





Task 2.6
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Task 2.7

[image: image31.png]Asset Sale proceeds Cost Statement

£4,000) 23,000/ EXEMBtasset
212,000 2,000|CAICUIte gai as nomal
£7.000) 25,000| Ol xermiton appies
23.000) 25,000| 531 Poceeas o be 26,000
215,000 21,000 CaluIat 1055 85 nommal





Task 2.8

[image: image32.png]Wiich periods are treated as occupied and which are not?

Occupation Non.occupation

1-6-08 - 1-6-09

1-1-96 - 31-12.00





Task 2.9

[image: image33.png]‘The annual exemption is applied before capital Iosses are deducted.

True

False

Excess capital losses cannot e set against other taxable income,

True

False

Capital gains are taxed at 40% for higher rate tax payers.

True

False
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